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0 Sa8M 0 Sh DI2EPIE RADLAE
9 8,000,000& * 14! 8,000
301 et a = 4,320 4,320 0
01 MEIBEE 2063 4,320 4,320 0
O S8Aas HII=S &2 29 4,320
O S48 HIE =2 NADI=+2UY
x+) 900& * 400MICH * 12 4,320
307 21201 A 499,800 546,600 246,800
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0O ARAE S 499,800
O S84l XgJ| =28 |
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O a2 Mg 222AE ™eld]
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O S SASMYIl RFIDESEMEH &
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HIISXM2AE 2223 3,998,646 3,764,590 234,056
e 22 2a 197,146 160,090 37,056
101 @124l 51,799 48,627 3,172
04 JIZHHZ2Z2XNHESE S 51,799 48,627 3,172
OHEH HE MH ARY 45,758
O Jdles 44,7003 * 4% « 170 30,396
O opzzs4 8,390& = 4% = 170 5,706
O ==+ 44,7003 * 4% » 32¢ 5,722
O ¢gx=g 44,700% * 4H * 7L 1,252
O ggz2=fx¢ 67,050 * 4H * 10 2,682
040128 6,041
O A= L=
45,758,000& * 3.00/100 1,373
O LFIQAESEE RE=
1,373,000& * 6.55/100 90
O IHZIEE=s L3
45,758,000& * 4.50/100 2,060
O Ns28s fE=
45,758,000& * 1.50/100 687
O MHEE=E 2=
45,758,000& * 4.00/100 1,831
201 £B-2%H| 66,247 70,063 A 3,816
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O M) HEE &2 28 =2 (L2
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deEE 87.2& * 400kw * 8 A& + 128 3,349
206 M = dl 20,000 20,000 0
01 X2 4| 20,000 20,000 0]
022 884 AQE 2 (3EX, LA 2
25) 2,500,000& * 8IH A 20,000
401 Al HI L 2 0HHI 20,000 16,000 4,000
01 Al& H| 20,000 16,000 4,000
0 2= St&A - E4Z2A
5,000,000 * 1A % 40 20,000
HE XNotAd & 2=H 22 3,896,229 8,467,656 N4 571,427
N 848,000
= 87,000
Al 2,961,229
SEAH A 22 3,896,229 8,467,656 N4 571,427
N 848,000
& 87,000
Al 2,961,229
=X 22| 92,569 92,359 210
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04 JI2tHIZ22NEE S 3,129 2,919 210
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500,000& = 23| 1,000
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X

M HE XNotAHR L A 2el
& EH =2 (chel & 9l)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O IN=EEa33HaAE
27,780,000& * 14 27,780
Aot 2el 26,440 26,440 0
201 24l 20,440 20,440 0
01 At 2t 2l 17,740 17,740 0
0O 8t=2Hl 17,740
O ot&=, a2, Kok, H= =22 A
=2 3,600
=1 500,000& =« 43| 2,000
2g 200,000& * 83l 1,600
O ot&, a2z, Xot=s, Hex M= 2
e 3,000& = 5004 1,500
O S%4H +FAM 248
250,000 * 3MHA = 43 3,000
O ot&+= & Kot 28 ol =9 WA
100,000& * 5K 500
O XNot+= HE &I 2= MH
100& = 5,0000H 500
O OLZ DLA X8 43 2 £ 2N 242
480,000& * 183 8,640
02 2324l 2,700 2,700 0
03322 2 WA 300
O Kot =2ZA S8 REZ
300& = 1,000 300
O A& &YXl 2,400
O 2=t SA2c24 1,200,000& * 23] 2,400
401 AIEHI L 2CHEI 6,000 6,000 0
01 A& Bl 6,000 6,000 0
O Xot==AlE HZ &=
2,000,000& * 3044 6,000
23 BG=XNE ZHEAMS 1,000,000 2,567,380 A 1,567,380
401 AIEHI L 2 CHYI 1,000,000 2,567,380 A 1,567,380
01 A& HI 993,700 2,567,380 A 1,573,680
OlZs sE=0E Z&8AY
993,700,000 * 14 993,700
03 Al S THHI 6,300 0 6,300
O l&Zs sEF=0E Z&8AY
6,300,000& * 14! 6,300
28 MEfotE =AY 580,000 3,333,333 A2,753,333
Xl 348,000
< 87,000
Al 145,000
401 AIEHI L 20 580,000 3,333,333 A 2,753,333
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Al 145,000
01 A& HI 575,824 3,324,333 A2,748,509
[ MEiotd =AY 575,824,0008 * 14 575,824
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Al 140,824
03 A& 2 THHI 4,176 9,000 N4,824
O dMEictd S3 A
580,000,000% * 0.72/100 4,176
Hoswy MHEwE X4 1,000,000 1,000,000 0
X 500,000
Al 500,000
401 Al HI X SO 1,000,000 1,000,000 0
Xl 500,000
Al 500,000
01 A& Hl 993,700 996,400 22,700
ZE s¢2 g%z 24
993,700,000& * 14 993,700
X 500,000
Al 493,700
03 Al 2 THHI 6,300 3,600 2,700
0O 2d sz Megez =4
1,000,000,000& * 0.63/100 6,300
P2 (2 2e) 4,461,836 4,169,959 291,877
A2 I 4,435,656 4,145,879 289,777
A2 (2 22) 171,000 149,040 21,960
101 @124l 171,000 149,040 21,960
01 2= 171,000 149,040 21,960
O =2 f=E 171,000
O A2eZ2R=
9,500& = 26% = 45A12F « 128 133,380
O BAXg 2HEE N2AZ2RHY
003 » 62 ~ 55AI2t » 128 37,620
ol I (2H0Ia 4,264,656 3,996,839 267,817
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O Jdles 1,450,000& » 82 » 12&8 1,426,800
O Jlg=a=g 2,125,440,000& = 2.00/12 354,240
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O JHAE =] 110,000& » 829 » 128 108,240
O st 140,000& » 829H » 12& 137,760
O 24| 100,000& » 829 » 128 98,400
O Alte22==% 150,000& = 82% » 12& 147,600
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SHIP A+
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Ry 30,0003 = 82H 2% 4,920
el et 10,000& = 82&H 820
2013 B4 X =ZHI
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HIMNEES 7
20,000& = 208 = 103l 4,000
HYALRIID] =4t 5,950
EE=! 100,000& * 15CH 1,500
= At2| 350,000& = 104 = 33l 1,050
TelH 300,000& = 500 = 23| 3,000
A 200,000& * 100 = 23] 400
HPYARIID] A28 F¢ 9,750
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